. Adapter,
+NMC Technologies Offset Dual Head
Parts List

Issue/Rev. 0.0 (5/13) Bulletin PO01011

The Most Trusted Name In Measurement



ATC & ATG & ATG &

ltem Description Qty. 96% Gearing 96% Gearing 100% Gearing
1 Adapter, Dual .........ccccoecviiiiiicee e 1 517498-001 517498-003 517498-004
2 Adapter, COVEN .....uoiiiiiiiieiieieiieeeeee e 1T . 512372-002 512372-002
3 BaSE ...eveieeeeee e 1 517406-001 517406-001 517406-001
4 + Bearing, Thrust........cccoiiieiiiieeeeee e, 1 070360-001  070360-001 070360-001
5 + BUShING ...eeieeee e 2 002182-001 002182-001 002182-001
6 Bushing, Jackshaft.........cccccoooiiiiiiiiiiiieee, 1 011680-001 011680-001 513727-001

7 @1 Calibrator:

DUMMY <.t 1T 516105-001 516105-001
Temperature Corrected........ccccccvveeeeeiiniccnnnns 1 512060-001  ....oooiiiiiiieee
@2 Temperature Corrected, Special................... 1 B516130-
8 Clamp, Oil Tube........coeeeeieeeee e 1 003905-001  ceoveevevvniieeaee
9 @3 Compensator, ATC........cooeeiiciiiiiieeeeee e 1 See Note e
10 107 TU] o1 To TSR 1 014356-001 014356-001 014356-001
11 Coupling, DHVE ....cccooiiiiiiiiiiiiee e 1 072103-001  506407-001 506407-001
12 Gear, Calibrator Drive ..........cceeeeeviieveieeeeeeeeenn, 1 070480-001 550582-002 550582-001
13 BUSHING ..oeveeiiiieeee e 1 065111-001 065111-001 065111-001
14 Gear, ldler......ooooe i 1 070479-001  070479-001 071883-001
15 (O 11T 1 006588-001  .oooeeeieieeeeeeee
16 Pin, Cotter, 1/16 X 3/8" .....ccceeeiiiiiiiiiiiiieeeeee, 1 009825-400 009825-400 009825-400
17 Pin, Groove, 1/16 X 5/8" ..., 2 006028-002 006028-002 006028-002
18 Pin, Groove, 3/32 X 3/4" ..., 1 009820-400 009820-400 009820-400
19 Pin, Groove, 5/64 X 1/2" ..., 1 065354-002 065354-002 065354-002
20 Plate, COVEN .....uuveeieeiieeeeee e 1 003440-001 003440-001
21 Plate, Name ..........uvvveeeiiiiiieieieeeeeeeeeeeeeeeeeeeeeiene 1 503793-001 503793-001 503793-001
22 + Plate, Thrust Bearing .....cccccevieiinieneiceeee, 2 001111-001  001111-001 001111-001
23 Plug, Button ........ccvveeeiiiiee e T e 641010-409 641010-409
24 Screw, #6-32 X 5/16" .......ovvviriiicceieeeee e, 2 006048-002 006048-002 006048-002
25 Screw, #10-32 X 3/8" ... 2 e, 006045-002 006045-002
26 Screw, #10-32 x 1/2", Drilled.......ccccceeeeeeeeeee..n. 2 015169-400 015169-400 015169-400
27 Screw, Drive, Nameplate.......ccccccoeeveiiinninnenn. 2 006869-002 006869-002 006869-002
28 + Seal, Lead and Wir€.........cevveeeeiierrereeieeeeeennn. 1 001627-400  cooeeeeeiieeeeeee
29 Shaft..eeeeeeee———— 1 003698-001  003698-001 003698-001
30 Shaftand Gear............oooovvviiiiiiiiiiccceeeeee e, 1 070478-001 070478-001 070478-001
31 SPOOL .. 1 012189-001 012189-001 012189-001
32 Spring, Loading ........cccoeiieierneeeee e 1 537876-002 ...
33 Plug, Pipe, 1/8" NPT .....cooiiiiiiiiiiieeeee 1 550107-001 ..
34 Stud, Intermediate Gear...........cccevvveneeeeennee. 1 002375-001 002375-001 002375-001
35 Tube, Ol c.cooeeeeeee e 1 514658-001 ...t e,
36 LAY 2] 1= 1 009614-400 009614-400 009614-400
37 Washer, Felt ..o 1 001802-001 001802-001 001802-001
38 Adapter, Spacing........cccceeeeiiiiiiee e T e 506201-001 506201-001
B9 @4 ATG . 1 . 516727-001 516727-001
40 Base Assembly ..........ooeiiiiiiiiiii e 1 070561-001  070561-001 070561-001
41 Base, UPPer ......oeeviiiiiiiiiieee e 1 004623-001  004623-001 004623-001
42 BUSHING ...eveeiiiie e 2 002182-001 002182-001 002182-001
43 Coupling, Counter Drive..........ccccoovieeeeennnen. 1 072103-001 072103-001 072103-001
44 HUD, DIiVe.. ..o 1 004704-001  004704-001 004704-001
45 Pin, Groove, 1/16 X 5/8" .........oovvvvrviiriirinnnnn. 1 006028-002 006028-002 006028-002
46 Pin, Groove, 5/64 X 5/16" ........cccccvvvvvvvunnnnn. 1 009879-400 009879-400 009879-400
47 Shaft, Upper Drive.........ccccoviieiiiiniiieeeee, 1 008671-001  008671-001 008671-001
48 Pin, 3/32 X /4" ..o, 1 009820-400 009820-400 009820-400
49 Collar, Felt.........oooooviieeeeeeeeeee e 1 014357-001 014357-001 014357-001
50 + Gasket, Counter Base........cccceeevevveveeeiierervnnnnnn. # 002536-001 002536-001 002536-001
51 @5 Pipe, EXeNSION ...ccovviiieiiiieeee e, 1 004705-001 004705-001 004705-001
52 Screw, 3/8-16 X 1-1/4" ... 2 002238-401 002238-401
53 Screw, 1/4-20 X 3/8" ..o, 2 006452-002 006452-002 006452-002
54 Screw, 3/8-16 X 3/4" ... 2 060294-002 060294-002

Page 2 « PO01011 Issue/Rev. 0.0 (5/13)



ATC & ATG & ATG &

Item Description Qty. 96% Gearing 96% Gearing 100% Gearing
55 Screw, 3/8-16 X 7/8" ....cooeeeeeeeeee e 3 007558-400 007558-400 007558-400
56 Spring, Retaining ........ccocoveviiiiieccee e 2 014359-001 014359-001 014359-001
57 @6 Tube, Drive.....ccoeeeieeeeee e 1 004197-001  004197-001 004197-001
58 Washer, Retaining........cccccoiieiiiien e, 2 014358-001 014358-001 014358-001

#  Order quantity required.

+ Recommended stock.

@1 See Form Nos. PO01026 and PO01028 for component parts.

@2 When ordering, include temperature range and specific A.P.l. gravity.

@3 See Form No. PO01029 for component parts.

@4 See Form No. PO01025 for component parts.

@5 Specify length of “A” less 4-25/32" when ordering.

@6 Specify length of “A” less 4-1/4" when ordering.

Page 3 « PO01011 Issue/Rev. 0.0 (5/13)



Publication PO01011 has replaced P0201.00X which has been made obsolete. (5/2013)

The specifications contained herein are subject to change without notice and any user of said specifications should verify from the manufacturer that the specifications are currently
in effect. Otherwise, the manufacturer assumes no responsibility for the use of specifications which may have been changed and are no longer in effect.

Contact information is subject to change. For the most current contact information, visit our website at www.fmctechnologies.com/measurementsolutions and click on the
“Contact Us” link in the left-hand column.

Headquarters:

500 North Sam Houston Parkway West, Suite 100, Houston, TX 77067 USA, Phone: +1 (281) 260 2190, Fax: +1 (281) 260 2191

Measurement Products and Equipment: Integrated Measurement Systems:

Erie, PA USA +1 (814) 898 5000 Dubai, United Arab Emirates +971 (4) 883 0303  Corpus Christi, TX USA +1 (361) 289 3400
Ellerbek, Germany +49 (4101) 3040 Los Angeles, CA USA +1 (310) 328 1236 Kongsberg, Norway +47 (32) 286700
Barcelona, Spain +34 (93) 201 0989 Melbourne, Australia +61 (3) 9807 2818 Dubai, United Arab Emirates +971 (4) 883 0303
Beijing, China +86 (10) 6500 2251 Moscow, Russia +7 (495) 5648705

Burnham, England +44 (1628) 603205 Singapore +65 6861 3011

Visit our website at www.fmctechnologies.com/measurementsolutions

Printed in U.S.A. © 5/13 FMC Technologies Measurement Solutions, Inc. All rights reserved. PO01011 Issue/Rev. 0.0 (5/13)



